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ECONOMICS Model Question Paper

(English Version)

Instructions: 1. Write the question numbers legibly in the margin

IL.

2. Answer for the question should be continuous.
PART - A

Answer any Five of the following questions by choosing the correct answer.

(Each question carries 1 mark) (5x1=5)
1) Which of the following is an example of micro economic study
[a] National income [b] Consumer behavior
[c] Unemployment [d] Foreign Trade
2) The shape of an indifference curve is normally
[a] Convex to origin [b] Concave to origin
[c] Horizontal [d] Vertical
3) The market structure which produces heterogeneous products is called
[a] Monopoly [b] Monopolistic Competition
[c] Perfect Competition [d] None of the above
4) The year of great depression
[a] 1920 [b] 1889
[c] 1929 [c] 2022
5) In this standard all currencies were defined in terms of gold.
[a] metal [b] silver
[c] gold standard [d] none of the above

Answer any Five of the following questions by fill in the blanks.

(Each question carries 1 mark) (5x1=5)

6) Asincome increases the demand curve for normal goods shifts towards

7) SMC Curve cuts the AVC curve at the
below.

point of the AVC curve from

__________ is determined at the point where the demand for labour and
supply of labour curves intersect.

9) In monopoly market goods which are sold have no

10)A part of the revenue is paid out as
land.

11)Savings is that part of income thatis __________

12)The government may spend an amount equal to the revenue it collects. This

is known as



I1L

IV.

Match the following.

(Each question carries 1 mark) (5x1=5)
14) A B

1. Market economy a) TC

2. TFC+TVC= b) Private

3. Perfect competition c) Operation of invisible hand

4. Adam Smith d) Gross Domestic Product

5. GDP e) Perfect Information

Answer any Five of the following questions in a word or a sentence.

(Each question carries 1 mark) (5x1=5)

15)Expand MRS.

16)Define Marginal Revenue.

17)What is price floor?

18)What is monopoly?

19)What do you mean by final good.

20)Write the meaning of autonomous consumption.
21)Give the meaning of progressive tax.

22)What is balance of trade?

PART - B

Answer any Nine of the following question in four sentence each.

(Each question carries 2 mark) (9x2=18)
23)What do you mean by inferior good? Give example.

24)State the law of demand.

25)What are long run costs?

26)Mention the two determinants a firm’s supply curve.

27)Define equilibrium price and quantity.

28)Write the meaning of monopolistic competition and give an example.
29)What are the four factors of production? Mention their rewards.
30)Write the difference between nominal GDP and Real GDP.

31)Give the meaning of CRR and SLR.

32)Give the meaning of investment multiplier and write its formula.
33)Give the meaning of paradox of thrift.

34)Why public goods must be provided by the government?
35)Mention the three linkages of open economy.

36)What is foreign exchange rate?
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PART -C

Answer any Seven of the following questions in twelve sentences each.

(Each question carries 4 marks) (7x4=28)

37)Briefly explain how the family, firm, weaver, teacher can use their resources
to fulfill their needs in a simple economy.

38)Write the differences between substitutes and complements.

39)Explain Isoquant with the help of a diagram.

40)Write a brief note on returns to scale.

41)Explain the determinants of a firm’s supply curve.

42)Explain the features of perfect competition.

43)Briefly explain why Macro Economics is different from Micro Economics.

44)Explain the circular flow of income of an economy.

45)Write a note on externalities.

46)Explain the example of planned accumulation and decumulation of
inventories.

47)Give the meaning of aggregate demand function. How can it be obtained
graphically?

48)Write the chart of components of current account.

PART -D
Answer any Four of the following questions in twenty sentences each.
(Each question carries 6 marks) (4x6=24)
49)Explain the law of Diminishing Marginal Utility with the help of a table and
diagram.

50)Explain the features of indifference curves with the help of diagrams.
51)Explain the simultaneous shift of demand and supply curves in perfect
competition with the help of diagrams.



VIIL.

52)The market demand curve of a commodity and the total cost for a monopoly
firm reducing the commodity are given by the schedules below. Use the
information to calculate the following.

a)
b)

c)

d)

The MR and MC schedules.

The quantity for which the MR and MC are equal.

The equilibrium quantity of output and the equilibrium price of the
commodity.

The Total Revenue, the Total Cost and Total Profit in equilibrium.
Quantity 0 1 2 3 4 5 6 7 8
Q)

Price 52 44 37 31 26 22 19 16 13
(P)

Quantity 0 1 2 3 4 5 6 7 8
Q)

Total Cost | 10 60 90 100 102 105 109 115 125
(TC)

53)Explain the Macro Economic Identities.

54)Explain the functions of money and how does money overcome the short
comings of barter system.

55)Explain the classification of receipts.
56)Write a note on Balance of Payment.

PART - E

Answer any Two of the following project and assignment oriented questions.
(Each question caries 5 marks) (2x5=10)
57)A consumer wants to consume two goods. The price of banana is Rs. 5 and

the price of mangoes is Rs. 10. The consumer income is Rs. 40.

a)

b)

c)
d)

e)

How much bananas can she consumes if she spends her entire income on
that good?

How much mangoes can she consumes if she spends her entire income on
that good?

[s the slope of budget line downward or upward?

Are the bundles on the budget line equal to the consumer’s income or
not?

If you want to have more of bananas you have to give up mangoes. Is it
true?




58)Compute the Total Revenue, Marginal Revenue and Average Revenue
schedules in the following table, when market price of each unit of good is Rs.
10.

Quantity Sold TR MR AR
0

2
3
4
5

6

For Blind Students Only: Explain the meaning of TR, MR and AR.
59)Write a note on Demonitization.
60)Name the currencies of any five countries of the following.

USA, UK, Germany, Japan, China, Argentina, UAE, Bangladesh, Russia



